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Section : English Language

Q.1 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

The man /is a/social animal.
Ans 1. social animal
2. The man
3. No error

4.isa

Question ID : 264330148948
Status : Not Answered
Chosen Option : --

Q.2 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Would you / like to / watch an movie / tonight at eight?
Ans 1. watch an movie
2. like to
3. tonight at eight
4. Would you

Question ID : 264330148956
Status : Answered
Chosen Option : 1

Q.3 Select the most appropriate option to substitute the underlined segment in the given
sentence.

Tejais a successful businessman; he always makes hay when the moon shines.

Ans 1. makes hay while the sun sets
2. makes hay while the sun shines
3. makes hey while the moon rises

4. makes hay while the stars twinkle

Question ID : 264330143191
Status : Answered
Chosen Option : 2




Q.4 Select the option that expresses the given sentence in passive voice.

Did the company launch a new product last month?
Ans 1. Did the new product launch the company last month?

2. Was the company launched by a new product last month?
3. Was a new product launched by the company last month?

4. Did the new product launch by the company last month's?

Question ID : 264330142570
Status : Answered
Chosen Option : 3

Q.5 Select the most appropriate option that can substitute the underlined segment in the
given sentence.
In according to his advice | took this medicine.

Ans 1. accordance with
2. accordingly
3. accordance to

4. accord with

Question ID : 264330147598
Status : Marked For Review
Chosen Option : 1

Q.6 Select the most appropriate synonym of the underlined word.
Great leaders don’t ignore trivial things.
Ans 1. Small
2. Serious
3. Informal

4. Urgent

Question ID : 264330143172
Status : Marked For Review
Chosen Option : 2

Q.7 Select the most appropriate ANTONYM of the underlined word.
Her judicious act made him popular overnight.
Ans 1. Criminal
2. Unwise
3. Loyal
4. Lawful

Question ID : 264330143182
Status : Answered
Chosen Option : 2




Q.8 Select the most appropriate ANTONYM of the underlined word in the following
sentence.

The jovial host welcomed his guests with a warm smile and a hearty laugh.
Ans 1. Cheerful

2. Petulant
3. Buoyant

4. Convivial

Question ID : 264330148919
Status : Answered
Chosen Option : 1

Q.9 Select the most appropriate option that can substitute the underlined words in the
following sentence.

| am trying to study, if it is impossible with all this noise.
Ans 1. that it is impossible

2. but it is impossible
3. while it is impossible

4. unless it is impossible

Question ID : 264330142625
Status : Answered
Chosen Option : 2

Q.10 Select the option that expresses the given sentence in passive voice.
Suresh stole my book.

Ans 1. My book is being stolen by Suresh.
2. My book got stolen by Suresh.
3. My book was stolen by Suresh.

4. My book was being stolen by Suresh.

Question ID : 264330147563
Status : Answered
Chosen Option : 3

Q.11 Select the most appropriate meaning of the given idiom.

Having a chip on one’s shoulder
Ans 1. Having an unnecessary feeling of guilt

2. Having an irritated and unfriendly attitude
3. Having a proud and self-centred arrogance

4. Showing great resistance to any adversities

Question ID : 264330143988
Status : Not Answered
Chosen Option : --




Q.12 Parts of a sentence are given below in jumbled order. Select the option that arranges
the parts in the correct order to form a meaningful sentence.
A) he has been
B) everyone he knows
C) so upset about his
D) him so rude to
E) divorce and that made

Ans 1.A/E,C,D,B
2.C,D,B,E,A
3.A,C,E,D,B

4.B,D,A C E

Question ID : 264330143914
Status : Answered
Chosen Option : 3

Q.13 Select the most appropriate synonym for the underlined word in the given sentence.
She is painfully introverted, but an intelligent girl.

Ans 1. Shy
2. Outspoken
3. Social

4. Bold

Question ID : 264330143129
Status : Answered
Chosen Option : 1

Q.14 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No correction required’.
Everyone sincerely and positively were ready to find the solution for the serious issue
of sewage system.

Ans 1. Everyone were sincerely and positively
2. Everyone was sincerely and positively
3. No correction required.

4. Everyone had sincerely and positively

Question ID : 264330144229
Status : Answered
Chosen Option : 2

Q.15 Parts of a sentence are given below in jumbled order. Arrange the parts in the correct
order to form a meaningful sentence.
A. what to tell you and how to say it
B. and there is darkness everywhere
C. and | do not quite know
D. the light has gone out of our lives

Ans 1. BCAD
2. DBCA
3. ABCD
4. CABD

Question ID : 264330147575
Status : Not Answered
Chosen Option : --




Q.16 Select the most appropriate ANTONYM of the underlined word in the following
sentence.

The idea of investing all of his life savings in a risky startup seemed like an act of
lunacy to his financial advisor.

Ans 1. Sanity
2. Dismay
3. Delusion

4. Insanity

Question ID : 264330148920
Status : Answered
Chosen Option : 4

Q.17 Select the meaningful and correctly spelt word from the given options to fill in the
blank.

Whenever Susan received letters from the police, she ignored them.
Ans 1. intantienally
2. intoningly
3. indentionally

4. intentionally

Question ID : 264330148936
Status : Answered
Chosen Option : 4

Q.18 Select the sentence that has the correct use of spellings from the given options.

Ans 1. In spite of the challenges possed by the pandamic, the company adapted to remote
work and successfully maintained productivity levels.
2. In spite of the challenges posed by the pandamic, the company adapted to remote
work and successfuly maintained productvity levels.
3. In spite of the challenges posed by the pandemic, the company adapted to remote
work and successfully maintained productivity levels.

4. In spite of the challenges possed by the pandemic, the company adapted to remote
work and succesfully maintained productevity levels.

Question ID : 264330144171
Status : Answered
Chosen Option : 4

Q.19 Select the most appropriate option that can substitute the underlined segment in the
given sentence.
The person who dislikes and distrusts other people lived alone in a secluded cabin
deep in the woods, far away from the hustle and bustle of society.

Ans 1. misanthrope
2. pessimist
3. hermit

4. recluse

Question ID : 264330143137
Status : Answered
Chosen Option : 3




Q.20 Select the most appropriate ANTONYM of the word in brackets to fill in the blank.

The gentle lapping of waves (for) the shore was the only thing that
could be heard.

Ans 1. across
2. beneath
3. pro

4. against

Question ID : 264330149821
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Teenage is a (1) of life that everyone goes through between childhood and
adulthood. During this time, teenagers go through many changes both physically and
emotionally. They may experience mood swings, have difficulty expressing their feelings, and
sometimes (2) impulsively. Teenagers are also trying to figure out their place in the
world and may face pressure from peers, parents and society to (3) to certain
expectations. It is important for teenagers to have a support system that allows them to
explore their interests, develop their own identity and make healthy choices. Despite the
challenges that come with being a teenager, it can also be an exciting and transformative
time. Teenagers have the (4) to learn new skills, make lifelong friends and explore
new experiences that can shape their future. It is important for parents, educators and other
adults to provide teenagers with guidance, support and resources that can help them

(5) the challenges of adolescence.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank no. 1.
Ans 1. transition

2. phase
3. feeling

4. milestone

Question ID : 264330149609
Status : Answered
Chosen Option : 2




Q.22
Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Teenage is a (1) of life that everyone goes through between childhood and
adulthood. During this time, teenagers go through many changes both physically and
emotionally. They may experience mood swings, have difficulty expressing their feelings, and
sometimes (2) impulsively. Teenagers are also trying to figure out their place in the
world and may face pressure from peers, parents and society to (3) to certain
expectations. It is important for teenagers to have a support system that allows them to
explore their interests, develop their own identity and make healthy choices. Despite the
challenges that come with being a teenager, it can also be an exciting and transformative
time. Teenagers have the (4) to learn new skills, make lifelong friends and explore
new experiences that can shape their future. It is important for parents, educators and other
adults to provide teenagers with guidance, support and resources that can help them

(5) the challenges of adolescence.

SubQuestion No : 22
Select the most appropriate option to fill in blank no. 2.
1. pretend

2.run
3. play

4. act

Question ID : 264330149610
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Teenage is a (1) of life that everyone goes through between childhood and
adulthood. During this time, teenagers go through many changes both physically and
emotionally. They may experience mood swings, have difficulty expressing their feelings, and
sometimes (2) impulsively. Teenagers are also trying to figure out their place in the
world and may face pressure from peers, parents and society to (3) to certain
expectations. It is important for teenagers to have a support system that allows them to
explore their interests, develop their own identity and make healthy choices. Despite the
challenges that come with being a teenager, it can also be an exciting and transformative
time. Teenagers have the (4) to learn new skills, make lifelong friends and explore
new experiences that can shape their future. It is important for parents, educators and other
adults to provide teenagers with guidance, support and resources that can help them

5) the challenges of adolescence.

SubQuestion No : 23

Q.23 Select the most appropriate option to fill in blank no. 3.

Ans

1. certify
2. match
3. conform

4. appeal

Question ID : 264330149611
Status : Not Answered
Chosen Option : --




Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Teenage is a (1) of life that everyone goes through between childhood and
adulthood. During this time, teenagers go through many changes both physically and
emotionally. They may experience mood swings, have difficulty expressing their feelings, and
sometimes (2) impulsively. Teenagers are also trying to figure out their place in the
world and may face pressure from peers, parents and society to (3) to certain
expectations. It is important for teenagers to have a support system that allows them to
explore their interests, develop their own identity and make healthy choices. Despite the
challenges that come with being a teenager, it can also be an exciting and transformative
time. Teenagers have the (4) to learn new skills, make lifelong friends and explore
new experiences that can shape their future. It is important for parents, educators and other
adults to provide teenagers with guidance, support and resources that can help them

(5) the challenges of adolescence.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank no. 4.
Ans 1. possibility

2. captivity
3. opportunity

4. ability

Question ID : 264330149612
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Teenage is a (1) of life that everyone goes through between childhood and
adulthood. During this time, teenagers go through many changes both physically and
emotionally. They may experience mood swings, have difficulty expressing their feelings, and
sometimes (2) impulsively. Teenagers are also trying to figure out their place in the
world and may face pressure from peers, parents and society to (3) to certain
expectations. It is important for teenagers to have a support system that allows them to
explore their interests, develop their own identity and make healthy choices. Despite the
challenges that come with being a teenager, it can also be an exciting and transformative
time. Teenagers have the (4) to learn new skills, make lifelong friends and explore
new experiences that can shape their future. It is important for parents, educators and other
adults to provide teenagers with guidance, support and resources that can help them

5) the challenges of adolescence.

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank no. 5.
Ans 1. corelate

2. propagate
3. conclude

4. reduce

Question ID : 264330149613
Status : Answered
Chosen Option : 4

Section : General Intelligence




Q.1 Select the set in which the numbers are related in the same way as are the numbers of the following sets.

(NOTE: Operations should be performed on whole numbers, without breaking down the numbers into their
constituent digits. E.g. 13 — Operations on 13 such as adding/ subtracting /multiplying, etc. to 13 can be performed.
Breaking down 13 into 1 and 3 and then performing mathematical operations on 1 and 3 is not allowed.)

(9, 3,90)

(5, 4,41)

Ans 1 (13,7, 218)
2. (7, 8,117)

3. (11, 8, 182) Question ID : 264330150852

Status : Answered
4,
(4: 12: 162] Chosen Option : 1

Q.2
Ans 1.
2. nk
3. ZS
4 Question ID : 264330147204

Status : Answered
Chosen Option : 4




Q.3

Ans

A Q\

1.
Q V
PN

2.
\.L ‘(j/
A 0\

3.
w V
RN

4.
\.L ‘ty

Question ID : 264330146483
Status : Answered
Chosen Option : 3
Q.4
Ans 1.

2. 237
s Question ID : 264330147388
4. 235 Status : Answered

Chosen Option : 4




Q.5

Ans 1. 15 ﬁ
2.
3.
4. 142 Question ID : 264330146396
Status : Answered
Chosen Option : 1
Q.6
Ans 1.
2.
3.
4. Question ID : 264330146981
Status : Not Answered
Chosen Option : --
Q.7
Ans 1.
2.
3.
4. Question ID : 264330146651

Status : Answered
Chosen Option : 4




QS8

Ans

1.
2.
3.
4. Question ID : 264330146390
Status : Answered
Chosen Option : 3
Q.9
Ans 112
2. 13
3. 15
416

Question ID : 264330146917
Status : Not Answered
Chosen Option : --




Q.10

Ans 1. Only conclusion II follows
2. Both conclusions I and II follow
. Question ID : 264330147469
3. Both conclusions II and III follow Status : Answered
4. Only conclusion I follows Chosen Option : 4
Q.11
Ans 1.
2.
3171
4. 174 Question ID : 264330146426
Status : Answered
Chosen Option : 4
Q.12
Ans 1.
2.
3. .
Question ID : 264330147023
4, Status : Not Answered

Chosen Option : --




Q.13

Ans

1.
2.
3. Question ID : 264330152020
. i Status : Answered
4. Neither conclusion I nor IT follows. Chosen Option : 1
Q.14
Ans 1.
2.
3.
Question ID : 264330147401
4 Status : Answered
Chosen Option : 4
Q.15
Ans 1.
2.
3.
4372
Question ID : 264330147439
Status : Answered
Chosen Option : 3
Q.16
Ans 1.
2.
3.
4.

Question ID : 264330147085
Status : Not Answered
Chosen Option : --




Q.17

Ans

- One

Question ID : 264330147486
Status : Answered
Chosen Option : 3

Q.18

Ans

Question ID : 264330147283
Status : Answered
Chosen Option : 1

Q.19

Ans

Question ID : 264330147164
Status : Answered
Chosen Option : 3




Q20 |n a certain code language,
A+ B means ‘A is the mother of B’
A—B means ‘A is the wife of B’
A x B means ‘Ais the son of B’

A+ B means ‘A is the brother of B’

Based on the above, how isSrelatedto Lif LxK+D-S5=T'?

Ans 1. Husband'’s brother
2. Sister’s husband
3. Mother's son
4. Father’s brother

Question ID : 264330155058
Status : Answered
Chosen Option : 2

Q.21
Ans 1.
2.
3.

Question ID : 264330146949
4. Status : Answered
Chosen Option : 3




Q.22

[
{IT
Ll
JLLES e

Ans 1. 25-45-65
2. 8§-28-48
3. 38—-58-78
4 17-27-67

Question ID : 264330152446
Status : Not Answered
Chosen Option : --




Q.24

Ans
. -
1.
L] -
« = =
2.
L] - L]
- L]
3.
- L]
L] L]
L 3 L]
4. !
Question ID : 264330147040
. L ]
Status : Answered
- - Chosen Option : 4
Q.25
Ans 1.
2.
3.
4. Question ID : 264330146336

Status : Not Answered
Chosen Option : --

Section : Quantitative Aptitude




Q.1

Ans 1. 41
2. 36
3. 39
4. 34 Question ID : 264330149448
Status : Answered
Chosen Option : 3
Q.2
Ans 1.
2.
3.
4.
Question ID : 264330147887
Status : Answered
Chosen Option : 1
Q.3
Ans
1. 38.50 cm?
2. 42.25 cm?
3. 35 cm?
4. 30.25 sz Question ID : 264330149267
Status : Not Answered
Chosen Option : --
Q.4
Ans 1 48 :60
24930
3. 25:37
4-50:80 Question ID : 264330149422

Status : Answered
Chosen Option : 2




Q.5

Ans .25
2.5:4
3. 45 Question ID : 264330151151
452 Status : Answered
e Chosen Option : 2
Q.6
Ans 1. 35%
2. 22%
3.
4.
Question ID : 264330148237
Status : Answered
Chosen Option : 4
Q.7
Ans
1.
2.
3.
4 Question ID : 264330147628

Status : Answered
Chosen Option : 3




Q.8

Ans 1.

4. Question ID : 264330147896
Status : Answered
Chosen Option : 2

Q.9

Ans 1. 18¢
2 36°
3. 30°
4 42°

Question ID : 264330148876
Status : Answered
Chosen Option : 4

Q10 1y AABC, BD 1 AC, intersecting AC at D. Also, BD = 12 cm. If m(AD) = 6 cm and
m(CD) =4 cm, find the area (in cm?) of AABC.

Ans 1.
2. 50
3. 60
4. 75
Question ID : 264330146815
Status : Answered
Chosen Option : 3
Q.11
Ans 1.
2.
3.
4.

Question ID : 264330146852
Status : Answered
Chosen Option : 4




Q.12

Ans 1. 6\[5
2. 8
3. 6

4 8\2

Question ID : 264330148826
Status : Answered
Chosen Option : 1

Q.13

Ans 1 3].740.90
2. 21,000
3. 2,000
4. 31,540.40

Question ID : 264330150751

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.14

Ans 1. 2

Question ID : 264330150562
Status : Answered
Chosen Option : 1

@15 What is the value of p, if, 25(4 + 3p) + 5—3x8=1267

Ans 15
2 4
3.7
)

Question ID : 264330147776
Status : Answered
Chosen Option : 4




% Jftan(90— §) = —~, then the value of 23 tan g + 1 is:

3 r
Ans 1.4
2.5
3 3
4 6
Question ID : 264330149466
Status : Answered
Chosen Option : 1
Q.17
Ans 1. 15
2. 12
3. 18
410 .
Question ID : 264330147800
Status : Answered
Chosen Option : 1
Q.18
Ans 1. 25
2. 80
3.
4,
Question ID : 264330148091
Status : Answered
Chosen Option : 2
Q.19
Ans 1.
2.
3.
4 Question ID : 264330148188

Status : Answered
Chosen Option : 2




Q.20

Ans 1. 16
2. 8
3. 18
4. 12
Question ID : 264330147965
Status : Answered
Chosen Option : 1
Q.21
Ans 1.
2. Question ID : 264330148857
Not Attempted and
3. .
Status : Marked For Review
4. Chosen Option : --
Q.22
Ans 1 6.57
2. 957
3. 7.57
Question ID : 264330149208
4 8.57 Status : Answered

Chosen Option : 4




Q.23

Ans

1. 3a® + 5b?% — 16ab + 2bc — Bac
2. 3a® + 5b?% — 8ab + 2bc — 6ac
3. 3a%® 4 5b% — 16ab — 6ac
4. 3a% + 5b? — 16ab + 2bc — 6ac
Question ID : 264330148776
Status : Not Answered
Chosen Option : --
Q.24
Ans 1. ]
2. 12
3. 10
4.9 Question ID : 264330151122
Status : Not Answered
Chosen Option : --
Q.25
Ans 1.0
2.
3.
4,

Question ID : 264330149329
Status : Answered
Chosen Option : 3

Section : General Awareness




Q.1

Ans 1.

2.

3.

4,

Question ID : 264330145769
Status : Answered
Chosen Option : 1

Q.2
Ans 1.

2.

3. Rohan Bopanna and Ramkumar Ramanathan

4.

Question ID : 264330146282
Status : Answered
Chosen Option : 2

Q.3
Ans L Satnami

2. Bundela

3. Jat

4. Munda

Question ID : 264330148576
Status : Not Answered
Chosen Option : --

Q4 Which of the following states of India still uses the ancient bamboo drip irrigation method?

Ans 1 Telangana

2.

3. Maharashtra

4. Question ID : 264330155077
Status : Answered
Chosen Option : 2




Q5

Ans

Question ID : 264330145953
Status : Not Answered
Chosen Option : --

Q.6

Ans

Question ID : 264330150709
Status : Not Answered
Chosen Option : --

Q.7

Ans

Question ID : 264330145580
Status : Answered
Chosen Option : 3

Q8

Ans

Question ID : 264330145851
Status : Not Answered
Chosen Option : --




Q.9

Ans 1.
2 A
3.1
4. C Question ID : 264330145622
Status : Not Answered
Chosen Option : --
Q.10
Ans 1.
2.
3.
4.
Question ID : 264330145640
Status : Not Answered
Chosen Option : --
Q.11
Ans 1.
2.
3.
4.,
Question ID : 264330145940
Status : Answered
Chosen Option : 2
Q.12
Ans 1.
2.
3.
4.,

Question ID : 264330145892
Status : Not Answered
Chosen Option : --




Q.13

Ans 1

2.

3. Bhawna Jat
4. Khushbir Kaur

Question ID : 264330146275
Status : Not Answered
Chosen Option : --

Q.14
Ans 1. Kanuma
2. Elephanta

3. Bonalu

4. Konark

Question ID : 264330148674
Status : Answered
Chosen Option : 1

Q15 The second annual session of Indian National Congress was held at which of the following places?

Ans 1 Bombay

2. Delhi
3. Calcutta
4. Madras

Question ID : 264330148582
Status : Not Answered
Chosen Option : --

Q.16

Ans 1.

Question ID : 264330151261
Status : Answered
Chosen Option : 2




Q.17

Ans 1.

Question ID : 264330145818
Status : Not Answered
Chosen Option : --

Q.18

Ans L Sitar
2. Shehnai
3. Tabla
4. Harmonium

Question ID : 264330148677
Status : Answered
Chosen Option : 2

Q19 Match the following items with respect to money.
ListI List IT
1. Primary functions a. Distribution of national income
il. Secondary functions b. Measure of value
iii. Evils of money c. Store of value
iv. Contingent functions d. Instability of value
Ans 1.
2.
3.
4,

Question ID : 264330146118
Status : Not Answered
Chosen Option : --




Q.20

Ans
Question ID : 264330145926
Status : Not Answered
Chosen Option : --
Q.21
Ans 1.
2.
3.
4.
Question ID : 264330145871
Status : Not Answered
Chosen Option : --
Q.22
Ans 1 25.6%
2. 10.9%
3. 15.6%
4. 21.9%
Question ID : 264330150286
Status : Not Answered
Chosen Option : --
Q.23
Ans 1.
2.
3.
4,

Question ID : 264330149356
Status : Not Answered
Chosen Option : --




Q.24

Ans 1.
2.
3.
4.,
Question ID : 264330144707
Status : Answered
Chosen Option : 4
Q.25
Ans 1.
2.
3.
4.

Question ID : 264330144674
Status : Answered
Chosen Option : 1
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